International Articulation Agreements and Pathways

SLC Program	Receiving Institution	Location	Agmnt/Pathway	Credential	Credits Awarded	Total Credits Required	GPA Required	Normal time to complete	Website
Advertising and Marketing Communications (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Public Relations and Communication	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?programCode=1490
Advertising and Marketing Communications (2 yrs)	AUT University	Auckland	Agreement	Bachelor of Business majoring in Advertising	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-advertising
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bba-mba
Advertising and Marketing Communications (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Marketing Communications (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Media	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/information-communication-and-media/information-communication-and-media-study-options/undergraduate/media
Advertising and Mktg Communications (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Communication and Public Relations	2 yrs (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BA-Communication-PR/Overview/BA-Bachelor- of-Arts-in-Communication-Public-Relations.html
Advertising and Mktg Communications Mgmt (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business majoring in Advertising	240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study-areas/business/qualifications/undergraduate/bachelor-of-business-phase-two-advertising
Advertising and Mktg Communications Mgmt (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Marketing	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Mktg Communications Mgmt (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin/MBA - Strategi Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba

Advertising and Mktg Communications Mgmt (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Advertising and Mktg Communications Mgmt (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Communication and Public Relations	3 years (6 semesters)	4 yrs		8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Any postgraduate certificate in any subject	University of South Wales	Cardiff, South Wales	Agreement	Entry to a postgraduate programme in a relevant subject area	1 yr	1 yr		1 yr	http://www.southwales.ac.uk/search/?collection=south- wales-uni-courses&query=&f.Level%7CL=pg
Autism & Behavioural Science (post grad certificate)	University of South Wales	Cardiff, South Wales	Agreement	MA Special Educational Needs (SEN) (Autistic Spectrum)	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/1159-ma-special-educational-needs-sen-autistic-spectrum
BAA - Behavioural Psychology	Davenport University	Grand Rapids, MI	Agreement	Master of Business Admin - Strategic Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours ??	https://resources.davenport.edu/Portals/0/Registrar/Articul ations/cdn/6_2013- 2014_Graduate%20Program%20Information.pdf
BAA - Behavioural Psychology	Davenport University	Grand Rapids, MI	Agreement	Master of Business Admin - Health Care Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours??	https://resources.davenport.edu/Portals/0/Registrar/Articulations/cdn/6_2013- 2014_Graduate%20Program%20Information.pdf
BAA - Behavioural Psychology	University of South Wales	Cardiff, South Wales	Agreement	MSc Behaviour Analysis and Therapy	4 yrs	1 yr		1 yr	http://courses.southwales.ac.uk/courses/841-msc- behaviour-analysis-and-therapy
BAA - Behavioural Psychology	University of South Wales	Cardiff, South Wales	Agreement	MSc Play and Therapeutic Play	4 yrs	1 yr		1 yr	http://courses.southwales.ac.uk/courses/305-msc-play-and-therapeutic-play
Bachelor of Business Admin	Davenport University	Grand Rapids, MI	Agreement	Master of Business Admin - Strategic Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours ??	https://resources.davenport.edu/Portals/0/Registrar/Articulations/cdn/6_2013- 2014_Graduate%20Program%20Information.pdf
Bachelor of Science in Nursing (BScN)	Davenport University	Grand Rapids, MI	Agreement	Master of Business Administration - Health Care Management Concentration	4 yrs	39 credits	2.75 or better (on a 4.0 scale)	39 credit hours??	https://resources.davenport.edu/Portals/0/Registrar/Articulations/cdn/6_2013- 2014_Graduate%20Program%20Information.pdf
Behavioural Science Technology (3 yr)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Psychology with Behaviour Analysis	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/1409-bsc-hons- psychology-with-behaviour-analysis

Davenport University	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits		4 yrs	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health- professions/programs-and-degrees/health-services- administration#objective
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health- professions/programs-and-degrees/health-services- administration#objective
Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	BSc (Hon) in Medical Biotechnology	3 yrs	4 yrs	60%	4 yrs	http://courses.itsligo.ie/school-of-science/biomedical-science/bsc-hons-in-medical-biotechnology/
South East Technological University (Old name: Institute of Technology Carlow)	Carlow, Ireland	Articulation	BSc (Hon) in Environmental Science	3 yrs	4 yrs	60%	4 yrs	http://www.itcarlow.ie/courses/type/undergraduate-cao- courses/science-health-courses/cw168.htm
University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Biology	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/51-bsc-hons- biology.
Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of International Business	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://degrees.griffith.edu.au/Program/1107/Overview/Int ernational?SearchHash=WvdytO%2F8WHr%2FPaeCnzMEs 68WUzE%3D
AUT University	Auckland	Agreement	Bachelor of Business - majoring in Accounting	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-accounting
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Accounting Fraud Investigation	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-fraud-investigation-bba
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Accounting Information Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/accounting-information-management-bba
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration/MBA - Professional Accountancy	- 60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree-mba/professional-accountancy-bba-mba
	Davenport University Davenport University Atlantic Technological University (Old name: Institute of Technology Sligo (ITS)) South East Technological University (Old name: Institute of Technology Carlow) University of South Wales Griffith University AUT University Davenport University	Davenport University Grand Rapids, MI Davenport University Grand Rapids, MI Atlantic Technological University (Old name: Institute of Technology Sligo (ITS)) South East Technological University (Old name: Institute of Technology Carlow) University of South Wales Griffith University Nathan or Gold Coast, Queensland AUT University Auckland Davenport University Grand Rapids, MI Davenport University Grand Rapids, MI	Davenport University Grand Rapids, MI Agreement Davenport University Grand Rapids, MI Agreement Atlantic Technological University (Old name: Institute of Technology Sligo (ITS)) South East Technological University (Old name: Institute of Technology Carlow) University (Old name: Institute of Technology Carlow) University of South Wales Cardiff, South Wales Griffith University Nathan or Gold Coast, Queensland AUT University Auckland Agreement Davenport University Grand Rapids, MI Agreement Davenport University Grand Rapids, MI Agreement Davenport University Grand Rapids, MI Agreement	Davenport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Davenport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Atlantic Technological University (Old name: Institute of Technology Sligo (ITS)) South East Technological University (Old name: Institute of Technology Carlow) Davenport University Old name: Institute of Technology Carlow) Agreement BSC (Hon) in Environmental Science Cardiff, South Wales Agreement BSC (Hons) Biology Griffith University Auckland Agreement Bachelor of International Business AUT University Auckland Agreement Bachelor of Business - majoring in Accounting Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Fraud Investigation Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management	Davenport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Davenport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration 90 credit hours (approx 3 yrs) Administration Attentic Technological University (Old name: Institute of Technology Sligo (TS)) South East Technological University (Old name: Institute of Technology Carlow) Carlow, Ireland University (Old name: Institute of Technology Carlow) University of South Wales Carlow, Ireland Carlow, Ireland University of South Wales Carlow, Ireland Carlow, Ireland Carlow, Ireland University of South Wales Carlow, Ireland Carlow, Ireland Davenport University Nathan or Gold Coast. Queensland Agreement Bachelor of International Business 120 CP (80 CP is the equivalent of a full-time year of study) Auckland Agreement Bachelor of Business - majoring in Accounting Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Fraud Investigation 60 credit hours (approx 2 yrs) Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 60 credit hours (approx 2 yrs) Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 60 credit hours (approx 2 yrs)	Daverport University Grand Rapids, MI Agreement Bachelor of Science - Health Services yrs] 120 credit hours (approx 3 yrs) 120 credits Administration Daverport University Grand Rapids, MI Agreement Bachelor of Science - Health Services yrs] 120 credit hours (approx 3 yrs) 120 credits Administration Atlantic Technological University (Old name Institute of Technology Sligo (15)) 120 credits Administration Associated Technological University (Old name Institute of Technology Sligo (15)) 120 credits Agreement BSc (Hon) in Environmental Science 3 yrs 4 yrs University of South Wales Cardiff, South Wales BSc (Hon) in Environmental Science 3 yrs 4 yrs University of South Wales Cardiff, South Wales BSc (Hon) BSc (Hon) Biology 3 yrs 4 yrs Griffith University Nathan or Gold Coast, Queendand Agreement Bsc (Hons) Biology 3 yrs 4 yrs Aut University Auckland Agreement Bachelor of International Business (Poppor Study) 120 CP (80 CP is the equivalent of a full-time year of study) Aut University Grand Rapids, MI Agreement Bachelor of Business - majoring in Action/ing 180 points (15 yrs) 360 points (3 yrs) Accounting fraud Investigation - Accounting fraud Investigation - Accounting Information Management 9 yrs) Daverport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 9 yrs) Daverport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 9 yrs) Daverport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 9 yrs) Daverport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 9 yrs) Daverport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Information Management 9 yrs)	Devemport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Devemport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Administration Devemport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Administration Devemport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Devemport University Grand Rapids, MI Agreement Bachelor of Science - Health Services Administration Devemport University Grand Rapids, MI Agreement Bachelor of International Business Devemport University Nathon or Gold Coast Queenabled Agreement Bachelor of International Business Devemport University Aukkland Agreement Bachelor of International Business Devemport University Grand Rapids, MI Agreement Bachelor of International Business Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting International Accounting International Accounting International Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Accounting Internation Management Devemport University Grand Rapids, MI Agreement Bachelor of Business Administration - Gold Control Counting Internation Management Devemport University Grand Rapids, MI Agreement Bache	Diversion University Grand Rapids, Mi Agreement Administration Diversion University Grand Rapids, Mi Agreement Administration Apprecia Administration Apprecia Administration Apprecia Apprecia Bod feloral Science - Health Services Administration Administration Apprecia Bod feloral Science - Health Services Administration Apprecia Administration Apprecia Bod feloral Science - Health Services Administration Apprecia Bod feloral Medical Botechnology 3 yrs 4 yrs 60% 60% 60% 60% 60% 60% 60% 60

Business - Accounting (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Finance	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/finance-bba
Business - Accounting (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Science in Business Finance	2 yrs (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business - Accounting (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Commerce	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1286
Business - Accounting (2 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Accounting and Finance, 2nd year entry	1 year	360 credits		3 yrs	http://courses.southwales.ac.uk/courses/207-ba-hons-accounting-and-finance
Business - Human Resources (2 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - majoring in Management	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-management
Business - Human Resources (2 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - majoring in Human Resources Management & Employment Relationsf	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-human-resource-management-and- employment-relations
Business - Human Resources (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business - Human Resources (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Human Resource Mgmt	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba
Business - Human Resources (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bba-mba
Business - Human Resources (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Business	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1288
Business - Human Resources (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of International Business	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://degrees.griffith.edu.au/Program/1107/Overview/Int ernational?SearchHash=WvdytO%2F8WHr%2FPaeCnzMEs 68WUzE%3D

Business - Human Resources (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Management with Human Resources	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/business-management-and- accounting/study-options/undergraduate/management- with-human-resource-management
Business - Human Resources (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business - Marketing (2 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - majoring in Marketing	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of business-phase-two-marketing
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors degree/management-bba
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors degree/marketing-bba
Business - Marketing (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Sport Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors degree/sport-management-bba
Business - Marketing (2 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business - Marketing (2 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Business	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1289
Business - Marketing (2 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Business Excellence 2nd year could not find this course what is new name?	1 yr	360 credits		3 yrs	
Business - Marketing (2 yrs)	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Management with Marketing	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/business-management-and- accounting/study-options/undergraduate/management- with-marketing
Business (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors degree/marketing-bba

Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Florida State University (FSU)	Tallahassee and WDW Resort in Orlando	Exchange Program MOU	12 FSU credits for course work and internship	NA	FT SLC student enrolled in Business, Hospitality or GAS		6 months (June - Dec)	www.disneyinternational programs.com
AUT University	Auckland	Agreement	Bachelor of Business - major will depend or the courses taken at SLC and the one choosen at AUT	180 points (1.5 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Human Resource Mgmt	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/human-resource-management-bba
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - International Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/international-business-bba
Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Sport Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/sport-management-bba
European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) Management	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/business-management-and- accounting/study-options/undergraduate-full- time/management
Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Business	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/business-management-and- accounting/study-options/undergraduate/international- business-management
University of South Wales The University of Glamorgan	Cardiff, South Wales	мои	BA Business Excellence 2nd year could not find this course what is new name?	1 yr	360 credits		3 yrs	
	Florida State University (FSU) AUT University Davenport University Davenport University Davenport University European University Robert Gordon University University of South Wales The	Florida State University (FSU) Florida State University (FSU) Auckland Aut University Auckland Davenport University Grand Rapids, MI European University Barcelona, Geneva, Munich Robert Gordon University Aberdeen, Scotland Robert Gordon University Aberdeen, Scotland	Florida State University (FSU) Tallahassee and WDW Resort in Orlando AUT University Auckland Agreement Davenport University Grand Rapids, MI Davenport University Grand Rapids, MI Agreement European University Barcelona, Geneva, Munich Geneva, Munich Robert Gordon University Aberdeen, Scotland Robert Gordon University Aberdeen, Scotland Robert Gordon University Aberdeen, Scotland Advanced Entry Agreement Scotland University of South Wales The Cardiff, South MOU	Florida State University (FSU) Tallahassee and WDW Resort in Orlando AUT University Auckland AUT University Auckland AUT University Auckland Agreement Bachelor of Business - major will depend on the courses taken at SLC and the one choosen at AUT Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - Human Resource Mgmt Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - International Business Davenport University Grand Rapids, MI Agreement Bachelor of Business Administration - International Business Bachelor of Business Administration - International Business Bachelor of Business Administration - International Business Bachelor of Business Administration - Sport Management Bachelor of Business Administration - Spo	Florida State University (FSU) Tallahassee and Exchange Program MOU 12 FSU credits for course work and internship NA WOW Resort in Orlando NA NA NA NA NA NA NA N	Management Man	Management ynal Florida State University (PSU) Florida State	Management yes Petrata State University (FSU) Aut Linkersity Auckland Agreement Bacterior discrete for course work and interrubley Crand Rapols. Mile Agreement Bacterior discrete for course work and interrubley Crand Rapols. Mile Agreement Bacterior discrete Administration Biolegeport University Crand Rapols. Mile Agreement Bacterior discrete Administration Interruble discrete Administration Developort University Crand Rapols. Mile Agreement Bacterior discrete Administration Interruble discrete Administration Developort University Crand Rapols. Mile Agreement Bacterior discrete Administration Interruble discrete Agreement Bacterior discrete Management Bacterior discrete Management Bacterior discrete Management Bacterior discrete Management Agreement Bacterior discrete Management Bacterior discrete Management Agreement Bacterior discrete Management Bacterior discrete Management Agreement Bacterior discrete Administration Sport Agreement Bacterior discrete Management Agreement Bacterior discrete

Business Admin - Accounting (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business majoring in Accountin	g 240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-accounting
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Accounting Information Mgmt	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Accounting Fraud Investigation	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/accounting-fraud-investigation-bba
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin/MBA - Professional Accountancy	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/accounting-fraud-investigation-bba
Business Admin - Accounting (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Finance	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/finance-bba
Business Admin - Accounting (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Sciednce in Business Finance	3 years (6 semesters)	4 yrs		4 yrs (8 semesters)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business Admin - Accounting (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Accounting and Finance, 3rd year entry	2 yrs	360 credits		3 yrs	http://courses.southwales.ac.uk/courses/207-ba-hons-accounting-and-finance
Business Admin - Accounting (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Management and International Accounting Top-up could not find this course what is new name?	2 yrs	360 credits		3 yrs	
Business Admin - Human Resources (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - majoring in Human Resources Management & Employment Relations	240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-human-resource-management-and- employment-relations
Business Admin - Human Resources (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - majoring in Management	240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-management
Business Admin - Human Resources (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Human Resource Mgmt	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba

Business Admin - Human Resources (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	3 years (6 semesters)	4 yrs		4 yrs (8 semesters)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business Admin - Human Resources (3 yrs)	Griffith University	Nathan, Logan or Gold Coast, Queensland	Agreement	Bachelor of Business (HRM)	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Search/Programs
Business Admin - Human Resources (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Business Excellence (HRM) 3rd year could not find this course what is new name?	2 yrs	360 credits		3 yrs	http://courses.southwales.ac.uk/courses/207-ba-hons-accounting-and-finance
Business Admin - Human Resources (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Management and HRM Top Up	2 yrs	360 credits		3 yrs	http://courses.southwales.ac.uk/courses/853-ba-hons- business-and-human-resource-management-top-up
Business Admin - Marketing (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business majoring in Marketing	240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate/bachelor-of- business-phase-two-marketing
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin/MBA - Strateg Management	c 90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree-mba/strategic-management-bba-mba
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Marketing	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business Admin - Marketing (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Sport Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/sport-management-bba
Business Admin - Marketing (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	3 yrs (6 semesters)	4 yrs		8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BBA-Business-Administration/Overview/BBA- Bachelor-s-Degree-in-Business-Administration.html
Business Admin - Marketing (3 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Business (MKT)	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Search/Programs
Business Admin - Marketing (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Business Excellence Marketing 3rd year could not find this course what is new name?	2 yrs	360 credits		3 yrs	

Business Admin - Marketing (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Management and Markting Top-up could not find this course what is new name?	2 yrs	360 credits		3 yrs	
Business Administration - Marketing (3 yrs)	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	Articulation	Bachelor of Business (Hons) in Marketing & Management	3 years	4 years	60%	4 years	http://lit.ie/Courses/LC225/default.aspx
Business Administration (3 yrs)	AUT University	Auckland	Agreement	Bachelor of Business - major will depend or the courses taken at SLC and the one choosen at AUT	240 points (2 yrs)	360 points (3 yrs)	3	3 yrs	http://www.aut.ac.nz/study-at-aut/study- areas/business/qualifications/undergraduate
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Human Resource Mgmt	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/human-resource-management-bba
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - International Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/international-business-bba
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin/MBA - Strategi Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree-mba/strategic-management-bba-mba
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Marketing	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Business Administration (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Admin - Sport Management	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/sport-management-bba
Business Administration (3 yrs)	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Business Administration	3 years (6 semesters)	4 yrs		8 semesters (4 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BA-Leisure-Tourism/Overview/BA-Bachelor-of- Arts-in-Leisure-Tourism-Management.html
Business Administration (3 yrs)	University of South Wales The University of Glamorgan	Cardiff, South Wales	MOU	BA Management and Business Top-up	2 yrs	360 credits		3 yrs	

Child and Youth Worker	Davenport University	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits		4 yrs	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Child and Youth Worker	Griffith University	Logan and Gold Coast, Queensland	Agreement	Bachelor of Human Services	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career- finder/Program/OverviewAndFees?ProgramCode=1098
Child and Youth Worker	Griffith University	Logan or Gold Coast, Queensland	Agreement	Bachelor of Social Work	140 CP (80 CP is the equivalent of a full-time year of study)	320 CP (4 yrs)	2.6 (65%)	4 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1372
Child and Youth Worker	Griffith University	Logan, Queensland	Agreement	Bachelor of Child and Family Studies	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1095
Child and Youth Worker	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Childhood and Youth	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/1697-bsc-hons-childhood-development
Child and Youth Worker	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Childhood Studies Top Up	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/515-bsc-hons- childhood-studies-top-up
Civil Engineering Technology (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits		4 yrs	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Civil Engineering Technology (3 yrs)	Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	Bachelor of Science (Hon) in Construction Project Mgmt	3 years	4 yrs	60%	4 years	http://courses.itsligo.ie/engineering-and- design/construction/bsc-hons-construction-project- management-add-on/
Civil Engineering Technology (3 yrs)	University of South Wales	Cardiff, South Wales	MOA	BEng (Hons) Civil Engineering	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/567-beng-hons- civil-engineering
Civil Engineering Technology (3 yrs)	University of South Wales	Cardiff, South Wales	MOA	BSc (Hons) Civil Engineering Top-up	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/1031-bsc-hons- civil-engineering-top-up
Community and Justice Services	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business

Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Networking Technology - Network Security	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/networking-technology-major-network-security- bs
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt - Networking Specialty	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelors-degree/technology-management-bs
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Network Mgmt and Design	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/technology-management-bs
Computer Networking and Technical Support (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/technology-management-bs
Computer Networking and Technical Support (2 yrs)	Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	Bachelor of Science in Computing in Systems & Networking	2 yrs	3 yrs	60%	3 yrs	http://courses.itsligo.ie/engineering-and- design/computing/bsc-in-computing-in-systems-and- networking/
Computer Networking and Technical Support (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science in Information Technology Support	2 yrs	3 yrs	60%	3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/Computing/TL614-HCinComputingInformationTechnologySupport/
Computer Programmer Analyst (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Computer Information Systems -Programming Specialty	n 90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/computer-information-systems-bs
Computer Programmer Analyst (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Database Systems and Programming	d 90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/computer-information-systems-bs
Computer Programmer Analyst (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/computer-information-systems-bs
Computer Programmer Analyst (3 yrs)	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Information Technology	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1109
Computer Programmer Analyst (3 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science (Hons) in Computing with Software Development	3 yrs	4 yrs	60%	4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/Scho olofBusinessComputingandHumanities/Computing/TL710- BScinComputingSoftwareDevelopment/

Computer Programmer Analyst (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Software Engineering	3 yrs	4 yrs		4 yrs	
Computer Programmer Analyst (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Computer Games development	3 yrs	4 yrs		4 yrs	
Culinary Management	Barbados Community College	Bridgetown, Barbados	Exchange Agreement	Associate Degree in Culinary Arts	1 yr	2 yrs	3.0 or 60%	2 yrs	http://bcc.edu.bb/ProspectiveStudents/ProgrammesOfStudy/AssociateDegreeProgrammes.aspx
Culinary Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Culinary Management	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Culinary Management	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts in Culinary Arts	2 yrs	3 yrs	60%	3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/HotelCulinaryToursm/TL719-BACulinaryArts/
Culinary Management / Cook Co-op Diploma Apprenticeship	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Culinary Management / Cook Co-op Diploma Apprenticeship	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Early Childhood Education, 2 yr	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Early Childhood Education, 2 yr	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Arts majoring in: Creative Writing; History; Journalism; Screen Studies; Sociology	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1021
Early Childhood Education, 2 yr	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of Child and Family Studies	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1095

Early Childhood Education, 2 yr	Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	Bachelor of Arts (Hons) Early Childhood Care and Education	2 yrs	4 yrs	60%	4 yrs	http://odl.itsligo.ie/business/ba-hons-in-early-childhood- care-and-education/
Early Childhood Education, 2 yr	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Arts (Hons) in Early Childhood Care and Education	2 yrs	4 yrs	60%	4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/Scho olofHealthandSocialScience/SocialSciences/TL880- BAHONSInEarlyChildhoodCareandEducation/
Electrical Engineering Technician, 2 yrs	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Energy Systems Engineering (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Energy Systems Engineering (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Renewable Energy Systems	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/868-bsc-hons- renewable-energy-systems
Energy Systems Engineering (3 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Sustainable Energy Science	3 yrs	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/868-bsc-hons- renewable-energy-systems
Energy Systems Engineering Technology (3 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Energy Systems Engineering Technology (3 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science (Hons) in Renewable Energy and Energy Management	3 yrs	4 yrs	60%	4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofScienceTechnologyEngineeringandMathematics/AgriculturalManufacturingEngineering/BScHONSRenewableEnergyandEnergyManagement/
Environmental Tech (2 yr)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Environmental Tech (2 yr)	Griffith University	Nathan, Queensland	Agreement	Bachelor of Science (Environment)	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1488
Environmental Tech (2 yr)	Hogeschool Zeeland University of Applied Sciences Netherlands	Vlissingen, the Netherlands	International Exchange Agreement	Bachelor of Water Management	2 years	4 yrs		4 yrs	http://hz.nl/en/studyprogrammes/Bachelor%20Degrees/Water%20Management/Pages/Programme.aspx

Esthetician (2 year)	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	Articulation	Bachelor of Arts (BA) in Business Studies with Beauty & Spa Management	1 year	3 years	60%	3 years	https://lit.ie/en-ie/courses/cao-courses/lc396
Fitness and Health Promotion (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Sport Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/sport-management-bba
Fitness and Health Promotion (2 yrs)	Institute of Technology Tralee (ITT)	Tralee, Ireland	Agreement	Bachelor of Science (Hons) in Health and Leisure	2 yrs	4 yrs	60%	4 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofHealthandSocialScience/HealthLeisureStudies/TL871-BScHonsinHealthandLeisure/
Fitness and Health Promotion (2 yrs)	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	MOA	BSc Sports & Strength Conditioning	2 yrs	3 yrs	60%	3 yrs	http://www.lit.ie/Courses/LC423/default.aspx
Fitness and Health Promotion (2 yrs)	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	MOA	BA (Hons) Business Studies with Sports Management	2 yrs	4 yrs	60%	4 yrs	http://www.lit.ie/Courses/LC295/default.aspx
Game Development Technician (2 yrs)	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	МОА	BSc (Hons) Computing with Games Design & Development	2 yr	4 yrs	60%	4 yrs	http://www.lit.ie/Courses/LC418/default.aspx
Game Development Technician (2 yrs)	South East Technological University (Old name: Institute of Technology Carlow)	Carlow, Ireland	Agreement	BSc (Hons) Computer Games Development	2 yr	4 yrs	70%	4 yrs	http://www.itcarlow.ie/courses/type/undergraduate-cao- courses/computing-networking-courses/cw208.htm
Game Development Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Computer Science - Gaming and Simulations Specialty	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/computer-information-systems-major-computer- gaming-and-simulation-bs
Game Development Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Technology Project Mgmt	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/technology/bachelor s-degree/technology-management-bs
Game Development Technician (2 yrs)	Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	Bachelor of Science in Computing in Games Development	2 yrs	3 yrs	60%	3 yrs	http://courses.itsligo.ie/engineering-and-design/computing/bsc-in-computing-in-games-development/
Game Development Technician (2 yrs)	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Computer Games Development	1 yr	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/562-bsc-hons- computer-games-development

			General Business	yrs)			·	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Florida State University (FSU)	Tallahassee and WDW Resort in Orlando	Exchange Program MOU	12 FSU credits for course work and internship	NA	FT SLC student enrolled in Business, Hospitality or GAS		6 months (June - Dec)	www.disneyinternationalprograms.com
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
South East Technological University (Old name: Institute of Technology Carlow)	Wexford, Ireland	Articulation	Bachelor of Arts (Hons) in Visual Communication and Design	3 years	4 years	60%	4 years	http://www.itcarlow.ie/international.htm
Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Griffith University	South Bank, Queensland	Agreement	Bachelor of Design	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1189&SearchHash=VMcvvnPz3K9JUDmDUgJTiDPZPIw%3D
Griffith University	Gold Coast, Queensland	Agreement	Bachelor of Digital Media	160 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/degree-career-finder/Program/OverviewAndFees?ProgramCode=1302&SearchHash=VMcvvnPz3K9JUDmDUgJTiDPZPlw%3D
etterkenny IT	Letterkenny, County Donegal, Ireland	Agreement	Bachelor (Hons) Visual Communications & Graphic Design	3 years	4 years	60%	4 years	https://www.lyit.ie/full- timecourses/designcreativemedia/ly408/
University of South Wales	Cardiff, South Wales	Agreement	BA (Hons) Graphic Communication	3 yrs	4 yrs		4 yrs	
University of South Wales	Cardiff, South Wales	Agreement	MSc Public Health	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/618-msc-public- health
University of South Wales	Cardiff, South Wales	Agreement	MSc Public Service Management	1 yr	1 yr		1 yr	http://courses.southwales.ac.uk/courses/306-msc-public- service-management
Scott	outh East Technological Iniversity (Old name: Institute of echnology Carlow) Davenport University Diriffith University Etterkenny IT Iniversity of South Wales	WDW Resort in Orlando Wavenport University Grand Rapids, MI Wexford, Ireland Iniversity (Old name: Institute of echnology Carlow) Wavenport University Grand Rapids, MI Wavenport University Grand Rapids, MI Wexford, Ireland Grand Rapids, MI Wavenport University Grand Rapids, MI Letterkenny, Queensland Wexford, Ireland France Cardiff, South Bank, Queensland Cardiff, South Wales Cardiff, South Wales Iniversity of South Wales Cardiff, South Wales Cardiff, South Wales Cardiff, South Wales Cardiff, South Wales	WDW Resort in Orlando Pavenport University Grand Rapids, MI Agreement Wexford, Ireland Articulation Articulation Articulation Agreement Agreement Agreement Agreement Agreement Grand Rapids, MI Agreement County Donegal, Ireland Iniversity of South Wales Cardiff, South Wales Agreement Agreement	WDW Resort in Orlando Internship Internship Internship Internship	WDW Resort in Orlando Agreement Bachelor of Business Administration - Go credit hours (approx 2 yrs) Wexford, Ireland Articulation Bachelor of Arts (Hons) in Visual Communication and Design Wexford, Ireland Communication and Design Grand Rapids, MI Agreement Bachelor of Business Administration - General Business of Arts (Hons) in Visual Communication and Design Grand Rapids, MI Agreement Bachelor of Business Administration - General Busine	WDW Resort in Orlando Sinternship Agreement Bachelor of Business Administration - Gol credit hours (approx 2 120 credits yes) South East Technological neiversity (Old name: Institute of the Cardits of Arts (Hong) in Visual Communication and Design Articulation Bachelor of Business Administration - Gol credit hours (approx 2 120 credits yes) South Bank, Queensland Agreement Bachelor of Business Administration - General Business - General Business Administration - General Business - General Business - Ge	W/W/W Resort in Orlando W/W/W Resort in Orlando W/W/W Resort in Orlando Westord, Ireland Agreement Bachelor of Business Administration - General Business Administration - General Business Administration - General Business (yrs) Westord, Ireland Articulation Bachelor of Arts (Hons) in Visual Communication and Design Communication and Design Communication and Design Westord, Ireland Agreement Bachelor of Business Administration - 90 credit hours (approx 3 years 4 years 60%) Westord Ireland Agreement Bachelor of Design 90 credit hours (approx 3 yrs) 120 credits Westord Ireland Agreement Business Administration - 90 credit hours (approx 3 yrs) 120 credits Westord Ireland Agreement Business Administration - 90 credit hours (approx 3 yrs) 120 credits Westord Ireland Agreement Business Administration - 90 credit hours (approx 3 yrs) 120 credits Westord Ireland Agreement Business Administration - 90 credit hours (approx 3 yrs) 120 credits Westord Ireland Agreement Bachelor of Design 160 CP (80 CP is the equivalent of a full-time year of study) Westord Ireland Agreement Bachelor of Digital Media 160 CP (80 CP is the equivalent of a full-time year of study) Exterkency IT Letterkency County Denegat Ireland Commy Denegat Ireland Agreement Bachelor (Hons) Visual Communications & 3 years 4 years 60% Graphic Design Novement Wales Cardiff, South Wales Cardiff, S	Wilder Control Collands Well Agreement Bachelor of Business Administration— General Business Administration— General Business Administration— General Business Occupits and Rapids, MI Agreement Bachelor of Business Administration— General Business Occupits and Rapids, MI Agreement Bachelor of Business Administration— Communication and Design Communication and Design Agreement Bachelor of Business Administration— General Business Administration— General Business Infilith University South Bank, Queensland Agreement Bachelor of Design Bachelor of Bachelor of Design Bachelor of Bachelor of Design Bachelor

Health Information Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Information Management	60 credit hours (approx 2 yrs)	121 credits		4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-information- management-bs
Health Information Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services- administration-bs
Hospitality & Tourism Management	Griffith University	Nathan or Gold Coast, Queensland	Agreement	Bachelor of International Tourism and Hote Management	I 120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://degrees.griffith.edu.au/Program/1408/Overview/International?searchHash=rQceLMkA3CJLBEQeWuNzaDY2kxQ%3D
Hospitality & Tourism Management	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	MOA	BA (Hons) Business Studies with Event Management	2 yrs	4 yrs	60%	4 yrs	http://www.lit.ie/Courses/LC294/default.aspx
Hospitality & Tourism Management	Technological University of the Shannon: Midlands Midwest (TUS) (Old name: Limerick Institute of Technology)	Limerick, Ireland	MOA	BA (Hons) Business Studies with Travel & Tourism Management	2 yrs	4 yrs	60%	4 yrs	http://www.lit.ie/Courses/LC293/default.aspx
Hospitality and Tourism Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality and Tourism Management	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality and Tourism Management	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Hospitality and Tourism Management	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Leisure and Tourism Management	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BA-Leisure-Tourism/Overview/BA-Bachelor-of- Arts-in-Leisure-Tourism-Management.html
Hospitality and Tourism Management	Florida State University (FSU)	Tallahassee and WDW Resort in Orlando	Exchange Program MOU	12 FSU credits for course work and internship	NA	FT SLC student enrolled in Business, Hospitality or GAS		6 months (June - Dec)	www.disneyinternationalprograms.com
Hospitality and Tourism Management	Munster Technological University Kerry (Old name: Institute of Technology Tralee (ITT))	·Tralee, Ireland	Agreement	Bachelor of Arts in Travel and Tourism Mgmt	2 yrs	3 yrs	60%	3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/HotelCulinaryTourism/TL720-BATravelandTourismManagement/

Hospitality and Tourism Management	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Hospitality Management	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac,uk/business-management-and- accounting/study-options/undergraduate-full- time/international-hospitality-management
Hospitality and Tourism Management F	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Tourism Mgn	t 2 yrs	4 yrs	3.0 or above	4 yrs	https://www.rgu.ac.uk/business-management-and- accounting/study-options/undergraduate-full- time/international-tourism-management
Hospitality Management - Hotel & Restaurant	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/management-bba
Hospitality Management - Hotel & Restaurant E	Davenport University	Grand Rapids, MI	Agreement	BBA/MBA - Strategic Management	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/management-bba
Hospitality Management - Hotel & Restaurant E	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - Marketing	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/marketing-bba
Hospitality Management - Hotel & Restaurant E	European University	Barcelona, Geneva, Munich	Agreement	Bachelor of Arts in Leisure and Tourism Management	2 years (4 semesters)	3.5 yrs		7 semesters (3.5 yrs)	http://www.euruni.edu/euruni/Programs/Undergraduate- Bachelor/BA-Leisure-Tourism/Overview/BA-Bachelor-of- Arts-in-Leisure-Tourism-Management.html
· · · · k	Munster Technological University Kerry (Old name: Institute of Fechnology Tralee (ITT))	· Tralee, Ireland	Agreement	Bachelor of Arts in Hotel Management	2 yrs	3 yrs	60%	3 yrs	http://www.ittralee.ie/en/InformationAbout/Courses/SchoolofBusinessComputingandHumanities/HotelCulinaryTourism/TL822-BAHONSHotelManagement/
Hospitality Management - Hotel & Restaurant	Robert Gordon University	Aberdeen, Scotland	Advanced Entry Agreement	Bachelor (Hons) International Hospitality Management	2 yrs	4 yrs	3.0 or above	4 yrs	http://www.rgu.ac.uk/business-management-and-accounting/study-options/undergraduate-full-time/international-hospitality-management
Instrumentation and Control Engineering Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Instrumentation and Control Engineering Technology (3 Eyr)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Journalism E	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Mechanical Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Medical Laboratory Science (3 yr)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/college-health- professions/programs-and-degrees/health-services- administration#objective
Motive Power Technician - Co-op Diploma Apprenticeship (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Music & Digital Media (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Music Theatre - Performance	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Office Administration - Legal (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Office Administration - Legal/Medical (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Office Administration - Legal/Medical (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services-
Office Administration - Medical (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits	4 years	administration-bs http://www.davenport.edu/programs/business/bachelors-degree/general-business
Office Administration - Medical (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	120 credits	4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services-
Paramedic	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2	120 credits	4 years	administration-bs http://www.davenport.edu/programs/business/bachelors-degree/general-business
				Ceneral pusiness	y1-5)			refree Acrisia-nasiness

Police Foundations	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Police Foundations	Griffith University	Mt Gravatt and Gold Coast, Queensland	Agreement	Bachelor of Criminology and Criminal Justice	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP (3 yrs)	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=8024
Social Service Worker	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/health- professions/bachelors-degree/health-services- administration-bs
Social Service Worker	Griffith University	Logan and Gold Coast, Queensland	Agreement	Bachelor of Human Services	120 CP (80 CP is the equivalent of a full-time year of study)	240 CP	2.6 (65%)	3 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1098
Social Service Worker	Griffith University	Logan or Gold Coast, Queensland	Agreement	Bachelor of Social Work	120 CP (80 CP is the equivalent of a full-time year of study)	320 CP (4 yrs)	2.6 (65%)	4 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1372
Social Service Worker	University of South Wales	Cardiff, South Wales	Agreement	BA (Hons) Social Work or BSc (Hons) Social Work	1 yr	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/123-bsc-hons- social-work
Social Service Worker	University of South Wales	Cardiff, South Wales	Agreement	BSc (Hons) Health and Social care Management	1 yr	4 yrs		4 yrs	http://courses.southwales.ac.uk/courses/124-bsc-hons-health-and-social-care-management/?content=initial
Veterinary Technology	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Veterinary Technology	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Science - Health Services Administration	90 credit hours (approx 3 yrs)	120 credits		4 years	http://www.davenport.edu/college-health- professions/programs-and-degrees/health-services- administration#objective
Veterinary Technology	Saint George's University	Grenada, WI	MOU	Doctor of Veterinary Medicine	3 yrs	7 years	GPA 3.4/400 at SLC and GRE above 290	7 years	http://www.sgu.edu/school-of-veterinary- medicine/preveterinary-bs-dvm.html
Visual & Creative Arts - Fine Arts (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business

Visual & Creative Arts - Fine Arts (2 yrs)	Atlantic Technological University (Old name: Institute of Techonolgoy Sligo (ITS))	Sligo, Ireland	Agreement	Bachelor of Arts in Fine Art	2 yrs	3 yrs	60%	3 yrs	http://courses.itsligo.ie/engineering-and-design/fine- art/ba-hons-in-fine-art-add-on/
Welding & Fabrication Technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Welding & Fabrication Technician Co-op Diploma Apprenticeship (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Wind Turbine technician - Industrial Electrician Co-op Diploma Apprenticeship (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors-degree/general-business
Wind Turbine technician (2 yrs)	Davenport University	Grand Rapids, MI	Agreement	Bachelor of Business Administration - General Business	60 credit hours (approx 2 yrs)	120 credits		4 years	http://www.davenport.edu/programs/business/bachelors- degree/general-business
Wind Turbine technician (2 yrs)	Griffith University	Nathan, Queensland	Agreement	Bachelor of Environmental Management	120 CP (80 CP is the equivalent of a full-time year of study)	320 CP (4 yrs)	2.6 (65%)	4 yrs	https://www148.griffith.edu.au/programs- courses/Program/OverviewAndFees?ProgramCode=1390